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I. ROXZEEDFEE L.
@ [EW&85]
x?-5x+4
=(x—1)x—-4)

@ [}EXE82]
x?2—-2xy—3y?
=(x +y)(x - 3y)

® [&R89]
30-16x+2x?
=2x2-16x+30
=2(x?-8x+15)
=2(x—=3)x-5)

@ [ELLu&B90]
3x°+6x—-9
=3(x?+2x-3)
=3(x+3)(x—-1)

® [dtPE=PE85])
2a’—-72
—2(a?-36)
=2(a+6)a-6)

® [dtPEZPE89)
ax > — ay?
=a(x?-y?)
=a(x +y)(x - y)

@ [dtpEKR5E92]
(x+3)(x+4)-6
=x?+7x+12 -6
=x2+7x+6
=(x+1)(x+6)

(£R82]

(e +5)*-4
=(a+5)>-2"
=(a+5+2)a+5-2)
=(a+7)a+3)

@ [&REHES82]
x3+x?-6x
=x(x?+x—-06)
=x(x+3)(x—-2)

(52KX=85]
alx+1)—(x+1)

x+1=A&HBL
(5x)=ad - A
=A(a —-1)
=(x+1)a-1)

@ [dbPEFPE82]

(x—3)°2+(x—-3)—-2
(MADHAR]
x—-3=X&BL

(5x)=X2+X-2
=(X+2)(X-1)
=(x—-3+2)(x—-3-1)
=(x—-1)(x—-4)

(—EEMRT D7HE]

(530)
=x?2-6x+9+x-3-2
=x?-5x+4
=(x—-1)(x—-4)

@ [£#85]

(x+2)°+3(x+2)+2
(MADHAR]
x+2=X&EBL

(5)=X2+3X+2
=(X+1)(X+2)
=(x+2+1)(x+2+2)
=(x+3)(x+4)

(—EEMRT D75 E]

(530)
=x’+4x+4+3x+6+2
=x’+7x+12
=(x+3)(x+4)

@ [£7%86)
2(x—2)>—(x—5)(x—-2)
(MADHER]
x—-2=X&EBL
5HR)=2X>-(x—-5)X
=X(2X-(x-5))
=(x=2)(2(x = 2)(x—=5))
=(x—-2)(2x—-4—-x+5)
=(x—-2)(x+1)
(—EEMT D5E]
(530)
=2(x?’-4x+4)
—(x?2-7x+10)
=2x°-8x+8x2+7x-10
=x2-x-2
=(x—-2)(x+1)

(32 K=86]
(x+2) (x—-3)—2(x—-3)

(MADHHER]
x—-3=X&BKL
EBR)=(x+2)X-2X
=X(x+2-2)
=(x—3)x

(—ERRY D5E]
BR)=x?2-x—-6-2x+6
=x?-3x
=x(x —3)
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® [EIL&88]
(x—2)2—(x—2)=12
(MADHAR]
x—-2=X&BL

(5R)=X2-X-12
—(X—4)(X +3)
—(x—2-4)x—2+3)
=(x—6)(x+1)
(—ERRT D5E]

(510)
=x?-4x+4-x+2-12
=x2-5x-6
=(x—6)(x+1)

(JEPEZPE85)

(x—1)°—(x—1)—-12
(MhADHHAR]
x—1=X&BL

(5®)=X?-X-12
=(X-4)(X+3)
=(x—-1-4)(x—-1+3)
=(x—-5)(x+2)

(—ERRTDHE]

(530)
=x?-2x+1-x+1-12
=x2-3x-10
=(x—-5)(x+2)

@ [&R92]
(x—y)*+2(—-x)-3
x—y=X&BL

(530)
=(x-y)?-2(x—-y)-3
=X?2-2X-3
=(X-3)(X+1)
=(x—-y-3)(x—-y+1)

[£R86]

x?2—(y+1)?
=(x+(@+1))x-(+1))
=(x+y+1)(x—-y—-1)

[&)REE88]
(x—y)?—-x+y
=(x—y)°—(x—y)
x—y=A&BL
(5®)=A2- A
=AA-1)
=(x—-y)(x—-y—-1)

@ [s&R88]
x2—y?’—x+y
=x’-y’—(x—-y)
=(x+y)(x—-y)—-(x—y)
=(x—-y)x+y-1)



I. ROXZEHBDHEE K.

@ [dbFEFFEO0]
a?(x—3)+(3—x)
=a’(x—3)-(-3+x)
=a’(x—3)—(x—3)
=(x-3)a?-1)
=(x—3)a+1)a-1)

@ [&1488]
(x-3)2+5x-15
(CADHHR]
(5%)
=(x—-3)?+5(x—-3)
=(x—-—3)(x—-3+5)
=(x—3)(x+2)
(—ERERT 375E]
(5%)
=x’°-6x+9+5x—-15
=x°—-x—-6
=(x—3)(x+2)

® [dtPEZPE88])
(x+2)°2+2(x+2)—48
x+2=X&BL
(5x)=X2+2X-48
=(X+8)(X-6)
=(x+2+8)(x+2-6)
=(x+10)(x—-4)

@ [dbpEFRo3]
(x—2)—(x—-2)—-20
x—-2=X&HBL

(B5Bx)=X2-X-20
=(X+4)(X-5)
=(x—2+4)(x—2-5)
=(x+2)(x—-7)

® [EBlu&E92]
ab—-2a—-b%+20b
—a(b-2)-bb-2)
=(b —-2)(a-b)

® [dbPEZFFE92]
4-4y+2xy—x?
=4-x2-4y+2xy
=(2+x)(2—-x)-2y(2—x)
=(2-x)(2+x—-2y)

@ [2#94]
(x+3)2-3(x+3)+2
x+3=X&EHBL

(BX)=X2-3X+2
=(X-1)(X-2)
=(x+3-1)(x+3-2)
=(x+2)(x+1)

® [(Eli&594]
x?-y?+2y-1
—x2-(y?-2y+1)
=x’-(y-1)°
=x+@-1)Hx-(-1)}
=(x+y-1)(x—-y+1)

© [&R%E%4]

(a + b)x —(a + b)(y + 2)
=(a + b)(x —(y + 2))
=(a+b)(x—-y—-2)

@ [E1Lu&E2015)
(2x+1) (2x-1)
—3(x—-1)"-12
=4x2-1
-3(x*’-2x+1) —12
=4x2-1
—3x2+6x—3-12
=x2+6x—-16
=(x—2)(x+8)

@ [&R2016]
12a2¢c-270b2¢
3¢c(4a2-9b2)
3c(2a+30b)(2a—30)

@ [&R2015]

(x+2) (x—3) +2«
=x2—x-6 +2x
=x2+x-6
=(x—2)(x+3)

® [£7#2016]
(x+1)2-5 (x+1) -6
x+1=X&BL

(530)

=X?-5X-6

—(X-6)X+1)

=(x+1-6) (x+1+1)

=(x—-5) (x+2)

—EIXRTEMATDIELL

® [2E#2015]
ab2—-c?a

=a (b2-c?)

=a (b+c)b—c)

® [dbpEFFE2016)
(x-2)2+5 (x—2) -6
x—-2=X&BKL

(530)

=X?+5X-6

—(X+6)X—1)

=(x—2+6) (x—-2—1)

=(x+4) (x-3)

—EIXRTEMTBIELL

(EE58E2015]
x2—-5x—-24
=(x—8) (x+3)

@ [#EFEE2016])
x?+3x-28
=(x+7) (x—4)

[(&RTEE52016)
2x%2y?2—4xy?—-6y°?

=2y2 (x2-2x-3)

=2y2(x—-3) (x+1)

® [&RFFt2016)
xy2—-9«x

=x (y2-9)

=x (y+3)y-3)



